Corrections of Feynman-Kac-type theorems and Gibbs measures on path spaces vol2.
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4. p.273, £.6 — L. 10 of the proof of Cor.2.149 is changed as follows.:
Let &5 = f]Rd q)1{p—q|<53dq, Where we assume that ®(q) satisfies

(®(q), H(q)®(q))

B = e

<E, |p—q|<o.

We have
Blest® > [ (@), Hg@la)dg = (@, 1e5)

This contradicts that E is the bottom of the spectrum of Hy. Hence E(0) < Ey < E(p)

for all p € RY. From the continuity of E(p), it follows that E(0) = Ex.
5. p.271, £.1: TFy(p) = ¥ = T Fy(p) — (2m)~ Y%V
p.271, £.2: TG (p) = & = TG, (p) — (27)~Y?®
p.271, £.7Tu: eif’PtOtGr(x) — PG (2)

p.271, L.6w ... = [poE* I (2)I.(B; — &) ... = ... = [pu E*[IL,(0)IL(B; — €) ...
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9. p.287, (2.12.34): g% + ¢210 = g% 4 gTo0

10. p.347, £.9u: g Ar(y) — Z; Aty
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11. p.347, ¢.11u: §8§HA(y) (r—y) =0y, Auly) = ¢ {282HA(y) (r—y) =0y, Au(y)

12. p.347, £.12u: % {8;21@) Sz —y) — (Au(y) + A“(cc))} = %e {8;21@) Sz —y) — (Au(y) +

13. p.347, £.9u:

If (oy) = (F(2), (A4(y)id,, + 54" (9) + A" @) (Au(@) + A,0)GW)) (@ — )
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p.357, £.9u:

d|YH? = 2Re(Yye Rote=RByqBF 1 dt — d|V}F|? = 2Re(Y;e*0te* Bt)dBH + dt
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p.397, (3.8.19): Jp:n-€x+§n-0:>Jp:n-€x—in-a

p.398, £.7: ei(Zm-(1/2)00“6—1‘@%(1/2)0 _ (%0_)“ — ei¢n~(1/2)Uo_ue—i¢n~(1/2)a _ (%_1U)H
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p.308, £.9: — %(%(—N) — RA) + Hyot == 5 (Fo - B((~iV) ~ () +

Hrad"’
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p-398, (3.8.22): Spec(n - (ly + (1/2)0)) = Z1 /9 = Spec(n - (by — (1/2)0)) = Z1 5
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p.400, £.2u: J = ({y, + 50—3) R14+10Liz=J = (ly; — 5cfg) ®14+1® L3

p.416, 14: Y1 = — f(f IA{Ejd(Br,eNT,’I’)Rd‘I’ — Y1 = — f(f ﬁEd(BT,HNT,T')dT

p.425, Lemma 3.97: (1) in the proof of Theorem 3.96 is true. = Statement (1) of
the proof of Theorem 3.96 is true.

p.429, 3u: Y;(1),, = Y;*(1)
p.429, 2u: Y;(2), = Y/*(2)

p.429, Tu:  (3)[[¥4(3,6)p — €139 || = (3)[|¥"(®) — ¥e(39)))
. m 1)/ R m 1)/
pA43, L8 VBTVl S () = VTR S (U5)

p.443, £.10u:  3tTi || ¢/ vw||* = 3tTi 3= ]14]?

p.458, 10: L, (c) = ... = I, (c) = ...
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p458,10: I, = ... =1, = ...

p.458, 11: I,(c) — K}(c) and 1, — K; as m — oo = I,,(¢) — K}°(c) and I,, — K;
as n — 00

p.502, (4.5.1): +1® 3 (—% +wx%> +==+1®1 (—% + 2wx%> +

p-502, £.11u, 3u, 1lu: % (—% —i—wm%) —= % (—% + 2wx%>



